Jingle Bell Schoo|
winter Holiday Home Work
Class IV
2024 - ‘25

English:
e Solve the worksheets titled ‘Proof Reading’ and ‘Homophones'’
Read the given supplementary reader and make a comic strip for the same story

Do it on the art sheet given to you

e Revise all the concepts taken up till now
Practice 1 page handwriting daily. Take a topic and write about that. Do not copy

a text from somewhere

Math:
Solve the worksheets titled ‘In the Lift' and ‘On the Bus Again’

Revise all the concepts taken up till now
Learn the tables of 16, 17, 18 and 19
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HOMOPHONES
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Choose the correct word, then complete each sentonce,

T 0. G TRAGISSREE e e garage. ( tl'ie'u* there )
h. Sally is not ____logoto the duco. (aloud allowed )
¢. Theseedswere ____away by the wind ( borne born )
d.  The dog began o — thebone, (bury berry )
e.  Greyhounds are dogs thatare ~lorraang. (bread brec )

f. My mother wrole a _for it dollars. ( cheque check )

g. Adesertisavery ~ place. (harore barren )
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PROOF READING
Spelling Aclivity 67
Circle the correct spelling.

A The belt is made of yoat skin ( leather lether )

Y EaR you do that ( Qgian again ) lor me?
C.. We pula spoonfyl of ( suger sugar) in her teq

d. I thort lhought Y we would be there by now

C. 1he teachor satel, “I'd like to ( welcom welcome ) vou here,”
f. There was alol ol ( peeplc peoplrz ) at the zoo

9. The children are ( runing running ) across the yard,

h. Chrsisa( bright brite ) and happy boy.

The incorrect homophones have been used in this story. Rewrite the story using
the correct homophones.

Won day a large bare found a burg tree growing in the woulcl, With its large
pause it pulled a bow of (e tree write down too the ground. It eight all the fruit then
wentto the creak four a drink. Just then it herd the raw of a large bore searching for

lood It was the same Pig the bear had scene only for days ago fossicking threw the
waust left by careless campers.
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Circle the correct spelling,

a. laugh laflf f. " messige message
b. dream dreem g. stable stabel

¢. middel micldle h. picked pickt

d. allmost almost i. office ofice

e. factony factry j- welcome welcom




\ Q"(; In The Lift

< Rajuworks as a liltman in an apartment blocl G sloreys

LAtheraie

T

high. This morning 9 people gol into the liff on 1he ground
floor. When the lift reached the 19 floor, 3 people got oul

and G people gol in.

How many people were there in the
lift?

When the lift reached the 2" floor, halfl
the people got out. How many people
were there in the lilt?

The lift then went o the 8 {loor. 2
people got out and 7 people got in.
How many people were there in the
lift?

When the lift reached the 4" floor, 6
people gol out of the lift and 3 people
solin.

How many people were there in the
lif1?

No one got out of the lift on 1he 5
floor but when some people got in, the
number of people in the lift became
double. How many people were there in
the lift?

Finally the lift reached the sixth floor.
Only 2 people got oul. The res! wanled
to go down to the ground floor. How
many people came down?
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Learning Outcome: Applies the concepts of addition and subtraction o solve (he gien probiem
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It was 3:50 p.m. The children climbed into the bus. But just as They
were about 1o start, the driver noticed that the bus had a flat tyre. 1t

took him half an hour fo replace the tyre. At what time did they
finally start?

After a short drive, the driver noticed fhat there was a road block
He had to 1ake a detour. The traffic was heavy and the bus had to
po over a flyover. The flyover was 45 m long. If the bus was & m
long, how many such buses could be parked in a row on the flyover?

The bus passed many fall buildings, the fallest being Unity Tower.
The building had 50 floors. If each floor was 8 m high, what wag the
height of the building?

The driver wanted to fill up diesel. They stopped al the petrol bunk.
He bought 25 litres of dicsel at Rg 80 a litre. How much did the
driver have to pay for the diesel?

If the driver gave a thousand rupee note at the petrol bunk, how
much change did he get back?
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